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2.3 mg/L
1,2-
[pg-TEQ/L]
No5 ND(0/1) | ND(0/1) | ND(071) | ND(0/71) | 0.9(0/1) |0.69¢0/1)| ND(0/1) | ND(0/1) | ND(O/1) | 20(071) | 0.27(0/1)
Ne6 ND(0/5) | ND(0/5) | ND(0/5) | ND(0/1) [4.2(5/5y|0.73¢0/5)| ND(0/5) | ND(0/5) | ND(0/1) | 36(2/5) | 0.37(0/1)
No7 ND(0/1) | ND(0/1) | ND(O/1) | ND(O/1) | 0.9¢071) |0.59¢0/1)| ND(0/1) 2692% ND(0/1) | 30¢0/1) | 0.37¢0/1)
No8 ND(1/24) | ND(0/19) ((’232*)3 ND(0/1) (13}19) ((2’}%) ND(0/4) (00'/02043) ND(O/1) | 72(8/8) |  3.8(1/1)
16-1 ND(0/1) | ND(O71) | NDO/1) | — | 4.9¢1/1) | 1.4(1/1) | ND(O/1) ‘20% —  |8s(/1) —
16-2 21%‘)" D7) | D71y | — | 2.1/1) [0.85¢1/1)| ND(O/1) ?i%? — |s2up —
16-5 ND(0/2) | ND(0/2) 21323 — a2 | 1.12/2) | No(072) ‘20925 — | 7922 —
21%3 ND(0/1) | ND(O/1) | ND(O/1) | — — | Noqorp) ‘20%9 ND(0/1) | 99(1/1) —
0.059 0.055 0.010 110
Grny | Mooy | GOS | oqrs) | — — | ey | 90 - B —
ND(0/1) | ND(0/1) 21% ND(0/1) | 1.7¢171) |0.43¢071)| ND(O71) | ND(O/1) |ND(O/L) | — —
0.008 0.032
wr) ni)D(Ooo/llo) Gy | Noern) |09/ 0.0/ — 0;55 N/ | — —
B | Qo |y [0-88QUD| W0/1) | 1.1a1/D) fo.37o/ 13y | (0S| wrny | — —
21%’ ND(0/1) 21%; ND(0/1) | 0.9¢071) |0.32¢0/1)| — —  |weny| — —
2698? ND(0/1) 2698; ND(0/1) | 1.0¢0/1) |0.28¢071)| — —  |wery| — —
H16-6 | ND(0/2) | ND(O/2) | ND(0/2) |  —  [4i8(2/2)|0.50¢0/2)| ND(0/2) | ND(0/2) | — | 18(0/2) —
26% ND(0/6) | ND(0/6) | ND(074) |1.9(6/6) [0.41(0/6)| ND(0/8) ‘zosg;‘ ND(0/4) | 47(8/9) | 0.10(0/4)
0.44(1/1) 21% 6.1(1/1) wi; 0.4(0/1) |0.72(0/1)| ND(O/1) | ND(O/1) 0('10/016)7 (13(1)) 2000(1/1)
21%’ 0('10/011)2 0.30(1/1) ‘20% 1.9(1/1) |0.66(0/1)| ND(0/1) ‘209% 0('10/011)2 (‘1‘3‘1’) 470(1/1)
0.29(1/1) 21%3 0.85(1/1) ?i%? 1.7(1/1) |0.96(1/1)| ND(0/1) | NDQO/Y) | — - —
0.53(1/1) 21%‘)" 5.9(1/1) wi? 1.9(1/1) | 1.4@1/1) | No(o/1) | NoQO/Y) | — - —
0.12(1/1) 0('10/016)7 1.2(1/1) ?i% 0.3(071) | 1.4¢171) | ND(o/1) | NDQO/Y) | — — —
?i?i? gﬁﬁ?? 0.15(1/1) 2692% 0.9(0/1) |0.75(0/1)| ND(0/1) 2692% gﬁﬁ?f 85(1/1) |  420(1/1)
2698? ND(0/1) ?i?fg ND(0/1) | 0.6¢071) |0.47¢071)| ND(O/1) | ND(O/L) | — - —
0.034 | 0.0009 0.015
an | Gy 0.20(1/1) dny 0.3(0/1) | 1.0¢1/1) | ND(0/1) Nz(gg) Oglﬁ 1;0 —
Wy | oy aram| Gl |ty |ty | iy | 0% | TR | 8 | s20asm
0.10(1/1) gﬁﬁf? 0.67(1/1) 2i91§ 1.0(0/1) | 1.1(1/1) | ND(0/1) | ND(0/1) gﬁﬁf? (fﬁg) 1300(1/1)
— — — — — — [ Wp@o/1) | W@/ | — — —
0.0L | (g 000y | O-OL 0.01 12 0.82 | 0.04 0.0L | o o005y 40 1
1)
2 [
3) 19 11 14 8 pp6 143
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11 12 79

-1,2-
VOCs
GC/MS 12 18

) VoC

http://soramame.taiki.go.jp/

http://kafun.taiki.go.jp/soramameGraph/GraphWeek.asp?MstCod
€=25201510&Komoku=07
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